Revised 6-27-2024

### GEORGIA DEPARTMENT OF TRANSPORTATION LOCAL MAINTENANCE & IMPROVEMENT GRANT (LMIG) APPLICATION FOR FISCAL YEAR 20\_\_\_\_\_ TYPE OR PRINT LEGIBLY. ALL SECTIONS MUST BE COMPLETED.

# LOCAL GOVERNMENT INFORMATION

Date of Application: 7/24/25

Name of local government: Hall County Government

Address: 2875 Browns Bridge Road, Gainesville, GA 30504

Contact Person and Title: Brent Cook

Contact Person's Phone Number: 770.533.6800

Contact Person's Fax Number: N/A

Contact Person's Email: becook@hallcounty.org

Is the Priority List attached? Yes

# LOCAL GOVERNMENT AFFIDAVIT AND CERTIFICATION

I, \_\_\_\_\_\_(Name), the \_\_\_\_\_\_(Title), on behalf of \_\_\_\_\_\_(Local Government), who being duly sworn do swear that the information given herein is true to the best of his/her knowledge and belief. Local Government swears and certifies that it has read and understands the LMIG General Guidelines and Rules and that it has complied with and will comply with the same.

Local government further swears and certifies that it has read and understands the regulations for the Georgia Planning Act (O.C.G.A. § 45-12-200, et seq.), Service Delivery Strategy Act (O.C.G.A. § 36-70-20, et seq.), Immigration Sanctuary Policies; prohibition; penalties (O.C.G.A. § 36-80-23), and the Local Government Budgets and Audits Act (O.C.G.A. § 36-81-7 et seq.) and will comply in full with said provisions. Local government further swears and certifies that the roads or sections of roads described and shown on the local government's Project List are dedicated public roads and are part of the Public Road System in said county/city. Local government further swears and certifies that it complied with federal and/or state environmental protection laws and at the completion of the project(s), it met the match requirements as stated in the Transportation Investment Act (TIA) (O.C.G.A. § 48-8-240).

Further, the local government shall be responsible for any claim, damage, loss or expense that is attributable to negligent acts, errors, or omissions related to the designs, drawings, specifications, work and other services furnished by or on behalf of the local government pursuant to this Application ("Loss"). To the extent provided by law, the local government further agrees to hold harmless and indemnify the DEPARTMENT and the State of Georgia from all suits or claims that may arise from said Loss.

### GEORGIA DEPARTMENT OF TRANSPORTATION LOCAL MAINTENANCE & IMPROVEMENT GRANT (LMIG) APPLICATION FOR FISCAL YEAR 20<sup>25</sup>

# LOCAL GOVERNMENT AFFIDAVIT AND CERTIFICATION

If the local government fails to comply with these General Guidelines and Rules, or fails to comply with its Application and Certification, or fails to cooperate with the auditor(s) or fails to maintain and retain sufficient records, the DEPARTMENT may, at its discretion, prohibit the local government from participating in the LMIG program in the future and may pursue any available legal remedy to obtain reimbursement of the LMIG funds. Furthermore, if in the estimation of the DEPARTMENT, a project shows evidence of failure(s) due to poor workmanship, the use of substandard materials, or the failure to follow the required design and construction guidelines as set forth herein, the Department may pursue any available legal remedy to obtain reimbursement of the allocated LMIG funds or prohibit local government from participating in the LMIG program until such time as corrections are made to address the deficiencies or reimbursement is made. All projects identified on the Project list shall be constructed in accordance with the Department's Standard Specifications of Transportation Systems (Current Edition), Supplemental Specifications (Current Edition), and Special Provisions.

Local Government:

\_\_\_\_(Signature)

(Print)

Mayor / Commission Chairperson

(Date)

LOCAL GOVERNMENT SEAL (required):

E-Verify Number

Sworn to and subscribed before me,

This \_\_\_\_\_ day of \_\_\_\_\_\_, 20\_\_\_\_.

In the presence of:

NOTARY PUBLIC

My Commission Expires:

NOTARY SEAL (required):

# CERTIFICATION OF COMPLIANCE WITH ANNUAL IMMIGRATION REPORTING REQUIREMENTS/ NO SANCTUARY POLICY/FEDERAL LAW ENFORCEMENT COOPERATION

By executing this document, the undersigned duly authorized representative of the Local Governing Body, certifies that the Local Governing Authority:

- has filed a compliant Annual Immigration Compliance Report with the Georgia Department of Audits & Accounts ("GDA&A") for the preceding calendar year required by O.C.G.A. § 50-36-4(b), or has been issued a written exemption from GDA&A from doing so;
- 2) has not enacted a "Sanctuary Policy" in violation of O.C.G.A. § 36-80-23(b); and,
- 3) is in compliance with O.C.G.A. §§ 35-1-17 et seq. regarding its obligation to cooperate with federal immigration enforcement authorities to deter the presence of criminal illegal aliens.

As an ongoing condition to receiving funding from the Georgia Department of Transportation, the Local Governing Body shall continue to remain fully compliant with O.C.G.A. §§ 50-36-4, 36-80-23 and 35-1-17 et seq. for the duration of time the subject agreement is in effect.

Signature of Authorized Officer or Agent

Printed Name of Authorized Officer or Agent

Title of Authorized Officer or Agent

Date

Form Date - May 10, 2024

# fy <u>26</u>

# \_\_\_\_\_ LMIG PROJECT LIST

# COUNTY / CITY Hall County

Road Name	Beginning	Ending	Length (Miles)	Description of Work	Project Cost	Project Let Date
Cagle Road	White Sulphur Road	SR 365	2.80 miles	Full Depth Reclamation & 2' shoulder addition on Cagle Road in the immediate vicinity of the Inland Port.	\$1,619,960.00	5/21/25
White Sulphur Road Phase 2	Inland Port Driveway	SR 365	0.85 miles	Addition of a 2nd lane for truck traffic to drop at the Inland Port. Project includes addition of dual lefts on SR 365 and 2 MSE walls to minimize ROW impacts.	\$3,380,040.00	10/01/25
					· · · · · · · · · · · · · · · · · · ·	



P. O. Box 509 Pendergrass, GA 30567 (706) 693-4042 (706) 693-4052 Fax

Change Order Request

April 17, 2025

#### RE: Cagle Road

Item	Description	QTY	Units	Unit Price	Total
					×
	Cagle Rd				
1	Traffic Control	1	LS	\$55,000.00	\$55,000.00
2	Var Depth Mill	19,625	SY	\$2.75	\$53,968.75
3	1.5" 12.5mm	1,945	TN	\$135.00	\$262,575.00
3	1.5" 9.5mm TP2	1,945	TN	\$140.00	\$272,300.00
4	Tack	1,200	GL	\$4.50	\$5,400.00
5	FDR	23,550	TN	\$15.50	\$365,025.00
7	Thermo Solid Traf Stripe, 5" White	3.35	LM	\$3,250.00	\$10,887.50
8	Thermo Solid Traf Stripe, 5" Yellow	3.35	LM	\$2,875.00	\$9,631.25
0		4 959	-		4201 07E 00
9	Alt. 1 Patching	1,250	TN	\$161.50	\$201,875.00
10	Alt. 1 Patching Traffic Control	1	LS	\$10,090.00	\$10,090.00
	White Sulphur Section				
11	Traffic Control	1	LS	\$19,500.00	\$19,500.00
12	Var Depth Mill	7,060	SY	\$2.75	\$19,415.00
13	1.5" 12.5mm	700	TN	\$135.00	\$94,500.00
14	1.5" 9.5mm TP2	700	TN	\$140.00	\$98,000.00
15	Tack	550	GL	\$4.50	\$2,475.00
16	FDR	8,470	TN	\$15.50	\$131,285.00
17	Thermo Solid Traf Stripe, 5" White	1.25	LM	\$3,250.00	\$4,062.50
18	Thermo Solid Traf Stripe, 5" Yellow	1.25	LM	\$2,875.00	\$3,593.75
19	Thermo Solid Traf Stripe, 24" White	36	LF	\$10.65	\$383.40

**Total Change Order Amount** 

\$1,619,967.15

All other terms and conditions of the original contract will remain in full force.

Thank you for your attention in this matter. Please do not hesitate to call if we may be of further assistance.

Sincerely,

Bryan Jones

Vice President

#### **Project Cost Estimate** Concept Name: Concept WHITE SULPHUR ROAD - PHASE 2 Cost Estimate Name: 18095001 Spec Year: 21 BHP-ALL 2-DE Item History: Estimate Construction Cost: \$7,242,567.79 Cost Estimate Phase: **ITEMS FOR CONCEPT NAME FORITEMCOSTS** 0100 - Roadway 0005 150-1000 277,384.64 TRAFFIC CONTROL - - 18095.001 1 LS \$358.092.97 0410 150-5010 2 EA 10,965.52 TRAFFIC CONTROL, PORTABLE IMPACT ATTENUATOR \$21,931.04 153-1300 142,875.06 FIELD ENGINEERS OFFICE TP 3 1 EA \$142,875.06 0010 210-0100 LS 832,153.93 GRADING COMPLETE - - 18095.001 \$704,516.00 1 0150 432-5010 1863 SY 92.83 MILL ASPH CONC PVMT, VARIABLE DEPTH \$172,943.30 0155 441-0016 67 SY 96.28 DRIVEWAY CONCRETE, 6 IN TK \$6,450.53 0160 441-0018 2945 SY 98.27 DRIVEWAY CONCRETE, 8 IN TK \$289,415.10 0225 441-0104 741 82.46 CONC SIDEWALK, 4 IN \$61,102.86 SY 441-0106 784 96.90 CONC SIDEWALK, 6 IN \$75,970.42 SY 0210 441-0108 153 126.36 CONC SIDEWALK, 8 IN \$19,332.70 SY 0305 441-4020 38 101.27 CONC VALLEY GUTTER, 6 IN \$3,848.45 SY 0215 441-6222 5940 LF 33.93 CONC CURB & GUTTER, 8 IN X 30 IN, TP 2 \$201,541.53 0415 446-1100 \$5,912.71 607 LF 9.74 PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH 0115 456-2012 0.61 GLM 1,318.47 INDENTATION RUMBLE STRIPS - GROUND-IN-PLACE (CONTINUOUS) \$804.27 0120 456-2015 0.37 GLM INDENTATION RUMBLE STRIPS - GROUND-IN-PLACE (SKIP) 1.947.61 \$720.62 0425 500-3800 2,648.02 \$7,944.05 CLASS A CONCRETE, INCL REINF STEEL CY 3 0420 620-0100 63.33 TEMPORARY BARRIER, METHOD NO. 1 \$22,165.13 LE 0205 621-6203 LE 1,398.35 CONCRETE SIDE BARRIER, TP 2-SC \$240,516.20 172 0200 632-0003 EA 10,018.52 CHANGEABLE MESSAGE SIGN, PORTABLE, TYPE 3 \$20,037.05 2 244.56 RIGHT OF WAY MARKERS 0110 634-1200 28 EA \$6,847.56

\$2,362,967.55

0100 Total

Line Number	Item	Quantity	Units	Price	Description	Amour
0125	310-1101	12321	TN	46.82	GR AGGR BASE CRS, INCL MATL	\$576,869.2
0405	318-3000	1258	TN	50.36	AGGR SURF CRS	\$63,347.2
0235	402-1802	160	TN	220.66	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME	\$35,305.5
0230	402-1812	180	TN	204.47	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	\$36,804.3
0135	402-3121	5472	TN	126.85	RECYCLED ASPH CONC 25 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H	\$694,118.3
0130	402-3130	1870	TN	151.58	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H	\$283,454.6
0140	402-3190	3109	TN	135.24	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP 1 OR 2, INCL BITUM MATL & H	\$420,451.3
0145	413-0750	3425	GL	2.28	TACK COAT	\$7,805.3
0430	500-9999	103	CY	423.76	CLASS B CONC, BASE OR PVMT WIDENING	\$43,647.0
0110 Total		Colorado.				\$2,161,803.0
0200 - Draii	nage					
ine Number	r Item	Quantity	Units	Price	Description	Amou
0310	550-2180	25	LF	80.88	SIDE DRAIN PIPE, 18 IN, H 1-10	\$2,022.0
170	550-2180	25	LF	102.82	SIDE DRAIN PIPE, 18 IN, H 1-10	\$2,570.4
0475	550-2240	23	LF	88.86	SIDE DRAIN PIPE, 24 IN, H 1-10	\$2,043.7
0435	550-2240	23	LF	92.37	SIDE DRAIN PIPE, 24 IN, H 1-10	\$2,124.4
0445	550-3324	1	EA	2,256.71	SAFETY END SECTION 24 IN, STORM DRAIN, 4:1 SLOPE	\$2,256.7
0200 - Draii	nage					
Line Numbe	r Item	Quantity	Units	Price	Description	Amou
0190	550-3418	2	EA	125.05	SAFETY END SECTION 18 IN, SIDE DRAIN, 4:1 SLOPE	\$250.1
		2	EA	1,516.40	SAFETY END SECTION 24 IN, SIDE DRAIN, 6:1 SLOPE	\$3,032.8
	550-3624	-	and a state of the			\$978.4
)440	550-3624	1	EA	978.43	FLARED END SECTION 18 IN, SIDE DRAIN	
0440 0175		1 2351	EA LF	C. C	STORM DRAIN PIPE, 18 IN, CLASS III	\$204,859.4
0440 0175 0180	550-4118	1	LF	87.14		
0440 0175 0180 0195	550-4118 550-5180	1 2351	LF LF	87.14 138.09	STORM DRAIN PIPE, 18 IN, CLASS III	\$2,071.4
0440 0175 0180 0195 0450	550-4118 550-5180 550-5240	1 2351 15	LF LF EA	87.14 138.09 1,104.90	STORM DRAIN PIPE, 18 IN, CLASS III STORM DRAIN PIPE, 24 IN, CLASS III	\$2,071.4 \$11,049.0
0440 0175 0180 0195 0450 0185	550-4118 550-5180 550-5240 611-9000	1 2351 15 10	LF LF EA EA	87.14 138.09 1,104.90 7,379.23	STORM DRAIN PIPE, 18 IN, CLASS III STORM DRAIN PIPE, 24 IN, CLASS III CAPPING MINOR STRUCTURE	\$2,071.4 \$11,049.0 \$140,205.4
0440 0175 0180 0195 0450 0185 0315	550-4118 550-5180 550-5240 611-9000 668-1100	1 2351 15 10 19	LF LF EA EA EA	87.14 138.09 1,104.90 7,379.23 6,481.36	STORM DRAIN PIPE, 18 IN, CLASS III STORM DRAIN PIPE, 24 IN, CLASS III CAPPING MINOR STRUCTURE CATCH BASIN, GP 1	\$2,071. \$11,049. \$140,205. \$25,925.
0440 0175 0180 0195 0450 0185 0315 0320 0325	550-4118 550-5180 550-5240 611-9000 668-1100 668-2100	1 2351 15 10 19 4	LF LF EA EA EA	87.14 138.09 1,104.90 7,379.23 6,481.36 531.92	STORM DRAIN PIPE, 18 IN, CLASS III STORM DRAIN PIPE, 24 IN, CLASS III CAPPING MINOR STRUCTURE CATCH BASIN, GP 1 DROP INLET, GP 1	\$204,859. \$2,071. \$11,049.0 \$140,205. \$25,925. \$1,063.0 \$5,706.0

Line Number	r Item	Quantity	Units	Price	Description	Amoun
0165	163-0232	2.50	AC	992.69	TEMPORARY GRASSING	\$2,481.73
0025	163-0240	79	TN	206.60	MULCH	\$16,321.20
0030	163-0301	6	EA	2,989.08	CONSTRUCT AND REMOVE CONSTRUCTION EXITS	\$17,934.48
0455	163-0520	600	LF	36.20	CONSTRUCT AND REMOVE TEMPORARY PIPE SLOPE DRAIN	\$21,720.01
0035	163-0528	1923	LF	11.89	CONSTRUCT AND REMOVE FABRIC CHECK DAM - TYPE C SILT FENCE	\$22,856.85
0465	163-0528	6726	LF	11.89	CONSTRUCT AND REMOVE FABRIC CHECK DAM - TYPE C SILT FENCE	\$79,945.51
0040	163-0550	18	EA	266.76	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP	\$4,801.68
0055	165-0030	3363	LF	0.93	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	\$3,120.80
0060	165-0041	962	LF	3.87	MAINTENANCE OF CHECK DAMS - ALL TYPES	\$3,724.46
0045	165-0101	3	EA	1,167.02	MAINTENANCE OF CONSTRUCTION EXIT	\$3,501.06
0050	165-0105	18	EA	112.22	MAINTENANCE OF INLET SEDIMENT TRAP	\$2,019.89
0460	165-0105	18	EA	112.22	MAINTENANCE OF INLET SEDIMENT TRAP	\$2,019.89
0065	165-0310	2	EA	848.73	MAINTENANCE OF CONSTRUCTION EXIT TIRE WASH AREA (PER EACH)	\$1,697.46
0470	171-0030	6725	LF	4.73	TEMPORARY SILT FENCE, TYPE C	\$31,805.69
	1111-0000	0120				
0070	643-8200	500	LF	3.35	BARRIER FENCE (ORANGE), 4 FT	\$1,675.00
0070 0300 Total			LF	3.35	BARRIER FENCE (ORANGE), 4 FT	\$1,675.00 <b>\$215,625.71</b>
0300 Total	643-8200	500	LF	3.35	BARRIER FENCE (ORANGE), 4 FT	
0300 Total 0400 - Pern	643-8200	500				\$215,625.71
0300 Total	643-8200	500 Control Quantity	Units	Price	BARRIER FENCE (ORANGE), 4 FT  Description STN DUMPED RIP RAP, TP 1, 18 IN	
0300 Total 0400 - Pern Line Number 0100	643-8200 nanent Erosion r Item 603-2018	500 Control Quantity 13	Units SY	Price 7.63	Description STN DUMPED RIP RAP, TP 1, 18 IN	\$215,625.71 Amount
0300 Total 0400 - Pern Line Number 0100 0105	643-8200 nanent Erosion	500 Control Quantity	Units SY SY	Price 7.63 7.63	Description	\$215,625.71 Amount \$99.19
0300 Total 0400 - Perm Line Number 0100 0105 0075	643-8200 nanent Erosion f Item 603-2018 603-7000	500 Control Quantity 13 13 5	Units SY SY AC	Price 7.63 7.63 1.715.47	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080	643-8200 manent Erosion r Item 603-2018 603-7000 700-6910	500 Control Quantity 13 13	Units SY SY AC TN	Price 7.63 7.63 1.715.47 274.72	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC	\$215,625.71 Amount \$99.19 \$99.19
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085	643-8200 nanent Erosion r Item 603-2018 603-7000 700-6910 700-7000	500 Control Quantity 13 13 13 5 5 15	Units SY SY AC TN	Price 7.63 7.63 1.715.47 274.72 1.575.90	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35 \$4,120.80
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085 0090	643-8200	500 Control Quantity 13 13 13 5 5 15 6	Units SY SY AC TN TN LB	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63	Description         STN DUMPED RIP RAP, TP 1, 18 IN         PLASTIC FILTER FABRIC         PERMANENT GRASSING         AGRICULTURAL LIME         FERTILIZER MIXED GRADE	\$215,625.71 Amoun \$99.19 \$99.19 \$99.19 \$8,577.35 \$4,120.80 \$9,455.40
0300 Total <b>0400 - Pern</b> Line Number	643-8200	500 Control Quantity 13 13 13 5 15 6 250	Units SY SY AC TN TN LB	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME FERTILIZER MIXED GRADE FERTILIZER NITROGEN CONTENT	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35 \$4,120.80 \$9,455.40 \$1,907.50 \$2,708.65
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085 0090 0095 0400 Total	643-8200  nanent Erosion  Item 603-2018 603-7000 700-6910 700-7000 700-8000 700-8100 700-8100 700-9300	500 Control Quantity 13 13 13 5 15 6 250	Units SY SY AC TN TN LB	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME FERTILIZER MIXED GRADE FERTILIZER NITROGEN CONTENT	\$215,625.71 Amouni \$99.19 \$99.19 \$8,577.36 \$4,120.80 \$9,455.40 \$1,907.50
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085 0090 0095 0400 Total 0600 - Sign	643-8200  nanent Erosion  f Item 603-2018 603-7000 700-6910 700-7000 700-8000 700-8100 700-8100 700-9300  ting	500 Control Quantity 13 13 13 5 15 6 250 355	Units SY SY AC TN TN LB SY	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63 7.63	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME FERTILIZER MIXED GRADE FERTILIZER NITROGEN CONTENT SOD	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35 \$4,120.80 \$9,455.40 \$1,907.50 \$2,708.65 \$26,968.08
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085 0090 0095 0400 Total 0600 - Sign Line Number	643-8200  nanent Erosion  f Item 603-2018 603-7000 700-6910 700-7000 700-8000 700-8100 700-8100 700-9300  ting	500 Control Quantity 13 13 13 5 15 6 250	Units SY SY AC TN TN LB SY	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63 7.63 7.63	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME FERTILIZER MIXED GRADE FERTILIZER NITROGEN CONTENT	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35 \$4,120.80 \$9,455.40 \$1,907.50 \$2,708.65 \$26,968.08 Amount
0300 Total 0400 - Perm Line Number 0100 0105 0075 0080 0085 0090 0095 0400 Total 0600 - Sign	643-8200	Source           Quantity           13           13           13           13           13           13           250           355           355           Quantity	Units SY SY AC TN TN LB SY Units SF	Price 7.63 7.63 1.715.47 274.72 1.575.90 7.63 7.63 7.63 <b>Price</b> 24.06	Description STN DUMPED RIP RAP, TP 1, 18 IN PLASTIC FILTER FABRIC PERMANENT GRASSING AGRICULTURAL LIME FERTILIZER MIXED GRADE FERTILIZER NITROGEN CONTENT SOD Description	\$215,625.71 Amount \$99.19 \$99.19 \$8,577.35 \$4,120.80 \$9,455.40 \$1,907.50 \$2,708.65 \$26,968.08

Line Number	Item	Quantity	Units	Price	Description	Amount
0240	653-0110	4	EA	99.95	THERMOPLASTIC PVMT MARKING, ARROW, TP 1	\$399.81
0245	653-0120	22	EA	100.80	THERMOPLASTIC PVMT MARKING, ARROW, TP 2	\$2,217.67
0610 - Paven	nent Marking					
Line Number	Item	Quantity	Units	Price	Description	Amount
0250	653-0210	2	EA	182.47	THERMOPLASTIC PVMT MARKING, WORD, TP 1	\$364.94
0255	653-1704	1105	LF	8.51	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	\$9,400.78
0260	653-1804	1510	LF	2.92	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	\$4,413.08
0265	653-1906	10625	LF	0.74	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	\$7,868.02
0270	653-2602	8585	LF	0.77	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	\$6,572.08
0275	653-4503	4800	GLF	0.50	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	\$2,417.90
0280	653-4830	40	GLF	4.40	THERMOPLASTIC SKIP TRAF STRIPE, 18 IN, WHITE	\$175.89
0285	653-6004	2340	SY	5.56	THERMOPLASTIC TRAF STRIPING, WHITE	\$13,010.12
0290	653-6006	370	SY	6.46	THERMOPLASTIC TRAF STRIPING, YELLOW	\$2,388.63
0295	654-1001	182	EA	6.27	RAISED PVMT MARKERS TP 1	\$1,141.02
0300	654-1003	236	EA	5.96	RAISED PVMT MARKERS TP 3	\$1,406.33
0610 Total	and strengthm	and a local day				\$51,776.27
0700 - Signa	ls					
Line Number	Item	Quantity	Units	Price	Description	Amount
0015	009-3000	1	LS	51,000.00	MISCELLANEOUS CONSTRUCTION	\$51,000.00
0345	636-1045	36	SF	33.06	HIGHWAY SIGNS, TP 2 MATL, REFL SHEETING, TP 11	\$1,190.24
0350	639-3004	1	EA	31,672.10	STEEL STRAIN POLE, TP IV	\$31,672.10
0355	647-1000	1	LS	51,000.00	TRAFFIC SIGNAL INSTALLATION NO 18095.001	\$51,000.00
0360	647-6300	4	EA	2,464.96	LOOP DETECTOR, 6 FT X 40 FT, QUADRUPOLE	\$9,859.86
0365	682-6233	410	LF	10.38	CONDUIT, NONMETL, TP 3, 2 IN	\$4,255.49
0375	682-9950	150	LF	25.61	DIRECTIONAL BORE 18095.001	\$3,841.53
0370	937-4100	1	LS	54,500.00	PEDESTRIAN DETECTION SYSTEM, NO 18095.001	\$54,500.00
0700 Total	HIGHLIG HIGHLIGH					\$207,319.22

0610 - Pavement Marking

Line Number	Item	Quantity	Units	Price	Description	Amoun
0380	627-1000	3118	SF	90.12	MSE WALL FACE, 0 - 10 FT HT, WALL NO WALL 1	\$280,983.28
0385	627-1010	4097	SF	100.41	MSE WALL FACE, 10 - 20 FT HT, WALL NO WALL 1	\$411,373.46
0390	627-1020	3413	SF	105.77	MSE WALL FACE, 20 - 30 FT HT, WALL NO WALL 1	\$360,981.47
0395	627-1030	1890	SF	124.08	MSE WALL FACE, GTR THAN 30 FT HT, WALL NO WALL 1	\$234,511.20
0400	627-1120	842	LF	611.61	COPING B, WALL NO WALL 1	\$514,976.98
0901 Total						\$1,802,826.39
0901 Total	ESTIN	MATED COS	ST:	TOTALS	S FOR CONCEPT NAME FORITEMCOSTS	\$1,802,826.39
0901 Total		MATED COS			7,242,567.79	\$1,802,826.39
0901 Total	ENGINEE		INSPEC	TION: 5%		\$1,802,826.39



Russell R. McMurry, P.E., Commissioner One Georgia Center 600 West Peachtree Street, NW Atlanta, GA 30308 (404) 631-1000 Main Office

May 9, 2025

The Honorable David Gibbs, Chairman Hall County Board of Commissioners P.O. Drawer 1435 Gainesville, Georgia 30503

RE: Additional funding from Amended FY25 Budget

Dear Chairman Gibbs:

The Department is pleased to announce that the Senate Leadership notified the Department of their intent to provide additional funding to Hall County to support improvements around the Inland Port as well as other improvements along State Route 365. GDOT is making \$5,000,000 available for this purpose to Hall County which is in addition to Local Roads Administration (LRA) funds already approved for the County.

The Department seeks your written confirmation that the additional funds will be utilized for the proposed Inland Port improvements and State Route 365 improvements. Correspondence may be sent to <a href="https://www.www.ight@dot.ga.gov">www.ight@dot.ga.gov</a> or the address below:

Georgia Department of Transportation Office of Local Grants – 17th Floor One Georgia Center 600 West Peachtree Street NW Atlanta, Georgia 30308

If you have any questions, please feel free to contact me at 404-347-0231 or wwright@dot.ga.gov.

Sincerely,

Bill Wright CHES Family Bill Wright CHES Family Bill Wright Des 2025 (2015) Family Bill Wright Des

Bill Wright Local Grants Administrator

cc: The Honorable Drew Echols, Georgia State Senate The Honorable Lee Hawkins, Georgia House of Representatives The Honorable Emily Dunn, State Transportation Board Jason Dykes, P.E., District Engineer Charles "Skip" Arnhart, District 1 State Aid Coordinator